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Fes | ERAR BERS w4 HER MRS | RRARS |  BHS
1 AFIEH | 1000401000410830 X U T A% 88.20 88.20
2 AFIETE | 1000401000410840] 4% Wiz THiz fl THE 83.20 83.20
3 AFIEE | 1000401007610850] i LA Bz TR TR 88.00 88.00
4 AFIEE | 1000401010810860] #idin Wiz THiz fl THE 87.40 87.40
5 HiiE %% | 1000401120060430)  ZEnfi 5 Y TREHTH 230 90.00 320.00
6 HiE%% | 1000401120060440] & PHT HUAK L2 247 86.55 333.55
7 g% | 10004011200604500 F %3 MU T2 219 87.73 306.73
8 HiE# % | 10004011200604600 B4 Rz THIZH TR 243 91.00 334.00
9 g4 | 1000401120060480 FixR B TH% 243 87.27 330.27
10 %4 | 1000401120060530 F&F K Bl LA 244 89.67 333.67
11 HiiE %% | 10004011200605500 k55 Y TREHTH 234 80.00 314.00
12 g% | 1000401120060570| &4 HUb LA 237 78.18 315.18
13 Hi#%% | 10004011200605900]  T-HF Wiz TR TR 238 90.67 328.67
14 Hig#EAZ | 1000401120060620 B9 iz THiZ AT 224 89.33 313.33
15 HiiE %% | 1000401120060680  HI5* iz THZH I 233 91.33 324.33
16 HiE##% | 1000401120060690  #iX HIM LR 236 83.18 319.18
17 Hig% | 1000401120060770] JHZE % P TF2 229 81.91 310.91
18 Hig#EAZ | 1000401120060780| REiR{E B LA 237 82.09 319.09
19 HiE%# | 1000401120060800 & L5 Bk A2 225 85.45 310.45
20 Hig#EAZ | 1000401120060810  AxE&Hs B LA 247 88.09 335.09
21 Hig% | 1000401120060840  ZEAi) PR TF2 246 91.36 337.36
22 HiE##% | 1000401120060860 T Hid HIM LR 220 84.36 304.36
23 Hig%£4Z | 1000401120060870| F 9] iz LHIZ AT 238 89.67 327.67
24 Hi#% | 10004011200609100 #k5 58 Bk L2 240 88.82 328.82
25 HiE#% % | 10004011200609300 R &M Bk LF2 236 80.36 316.36
26 HiE#E4Z | 1000401120060940( FImi: Bt LA 240 83.00 323.00
27 HiE#% % | 10004011200609500 & 5H MUk LF2 240 77.45 317.45
28 HiE#E4Z | 100040112006096C siiih Bt LA 234 72.45 306.45
29 Hig%E4Z | 1000401120060990 Fhx % MUtk TH% 222 82.45 304.45
30 Hi#% % | 10004011200610200 ki Bk A2 251 91.18 342.18
31 HiE#%% | 1000401120061030]  {5iF Bz THIZMH TR 246 94.00 340.00
32 Wif#ZER: | 1000401140060240  Z=H K Bz THZEMH T 85.40 85.40
33 WitEEE: | 1000401140060250 % MUtk T A% 88.40 88.40
34 WitiEE: | 1000401140060260( & 5= Bz THIZATHE 77.40 77.40
35 WitE % | 1000401140060270] B Bz THIZHTRE 90.17 90.17
36 Wit | 1000401140060280  EARR B TH% 85.20 85.20
37 WitsEs: | 1000401140060290  #iFW; BB LR 92.60 92.60
38 Wit | 1000401140060300( ZAAE Bz THIZATHE 90.33 90.33
39 Wi | 1000401140060310| ¥ ARk HUbR A2 87.20 87.20
40 WitdiEs: | 1000401140060320] [HE#H Bk L2 88.80 88.80
41 Wit i%s: | 1000401140060330] 7k HIH Bz THIZH TR 86.00 86.00
42 Wit | 1000401140060340  Fmesk iz THiZ T 89.17 89.17
43 Wi | 10004011400603500 ik HUBR A2 85.40 85.40
44 Wit | 10004011400603600 it HUb LA 85.80 85.80
45 filE%Es: | 1000401140060370] A ZEHL Bz THIZHTHE 91.50 91.50




46 Wi | 1000401140060380  HH /i Wbk TF2 88.40 88.40
47 W% | 1000401140060390  FI #Hiz THiEH1THE 85.80 85.80
48 WitEER: | 1000401140060400( 3 Bz THIZATHE 86.50 86.50
49 Witdi%E: | 1000401140060410 FAEH Wiz T Hig T 90.83 90.83
50 WitdiZiE | 1000401140060420] f=RHRH #Hiz THRiZMHTHE 87.17 87.17
51 WifE%Es: | 1000401140060430 14k #Hiz THiEMH1THE 87.33 87.33
52 Wil | 1000401140060440  ZEI Wiz THig A T 82.00 82.00
53 WitEE: | 1000401140060450 EZWH bR T2 88.80 88.80
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